4RA30B#E SHEK 1736 A
| Q E Qﬂjm Aﬁ 3 5 4 A

/0/4# 45’ 'W F9 322 A

230 00 21 1) FIA 3 " D HEA% 11 BOFATLE.

-]
BBER 1B ¥
60 r
i) BF | &% | &% |18¥EY BEF iEH it |1BEY| BE@EHK
XFEE 14 5 19 1.7 AEER 132 33.0 4
BAFH 0 2 2 0.2 - 50 KEER 0 0
BUARREFE 25 0 25 2.3 JKEER 147 36.8 4
EEE 5 0 0.5 0 REER 0 0
HBEFH 1 7 0.7 ®IER 75 25.0 3
bl 19 1 20 1.8 THEH 0 0
FHRIE T S 1 0 1| EZoi % &% 354 | 322 11
TE 66 2 68 A6.2 160 —pre 40
KBS 49 5 54| Fag o 140 33 P 18F5 3
=
E‘LE&I’?% 0 0.3 120 30
FEIH(ER) 4 0.4 100 4 25 .
3| = 10
AE B AR 28 19 47 4.3 i& % 20§
HHE - BEK - FL B S 0 0.2 i &
4o 60 15 o
ZDith 0 0 0 0.0 0
40 10
=Afes XBEBREHEBRIKEFNHRZT XK
RERE 43 2 45 4.1 f*ﬁ?ﬁﬁ?ﬁé*gﬁg%ﬂ@@?m N :
q= BEEBFHERLFRFA - K B
BE 34 17 51 46 rEmIEE g“§§$§f % A 0 | | | | | O
=K 290 64 354 322 % % Ak
Ll e B2 = %4 BEEE  kBE kBB  KEE  £®A  tEE
=]
E J
s 5
RPN — N ———— BERBIFAARK
EIEE: 11H o0 | BEAH
$E|E %% ﬁ% é%‘l’ 1 E|E|Zi’>] g0 | L |BRF E%FEﬁ 'I%"E'l' 1 E|E|Zi’>3 *??1@5%& 250 25
14 67 24 91 4.6 pERE AM 0 0
0 F L ==}
2% 66 8 74 33 | I omTF ~17:00 0 0.0 1
60 200 20 20
34 34 2 36 6.7 5 . 17:00 216 19.6 11
4 42 9 51 8.3 40 = - 17:30 79 7.2 11
KERRE 43 2 45 4.1 % a s 18:00 47 43| 11 150 L
8tALLE-ZDih 4 2 6 0.5 2 = o= 18:30 12 1.1 11 \ E
— B
LB 34 17 51 46 10 B == 19:00 0 0.0 11 100 10
&Et 290 64 354 32.2 o 19:00~ 0 0 / ;
B 8 X 4 3 2 1
Bt ¥ Es g g ikl 50 5
R CH 354
+
&zt L4 :
l:ln-I-Aﬁ % 0 ! G\ [ | ! | I ! 0 ! 0
1@ AM ~17:00 17:00 17:30 18:00 18:30 19:00 19:00 ~B5F 4}
L J \_




